


(1) Arrange the words given below in a meaningful sequence.
1. Leaf 2. Fruit 3. Stem

4. Root 5. Flower  

[A] 3, 4, 5, 1, 2

[B] 4, 3, 1, 5, 2

[C] 4, 1, 3, 5, 2

[D] 4, 3, 1, 2, 5

Answer : [B]

Explanation: 
The correct order is :
Root Stem Leaf Flower Fruit

4 3 1 5 2
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(2) Arrange the words given below in a meaningful sequence.
1. Presentation 2. Recommendation 3. Arrival

4. Discussion 5. Introduction  

[A] 5, 3, 4, 1, 2

[B] 3, 5, 4, 2, 1

[C] 3, 5, 1, 4, 2

[D] 5, 3, 1, 2, 4

Answer : [C]

Explanation: 
The correct order is :
Arrival Introduction Presentation Discussion Recommendation

3 5 1 4 2
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(3) Arrange the words given below in a meaningful sequence.
   1. Yarn    2. Plant    3. Saree    4. Cotton    5. Cloth

[A] 2, 4, 1, 5, 3

[B] 2, 4, 3, 5, 1

[C] 2, 4, 5, 1, 3

[D] 2, 4, 5, 3, 1

Answer : [A]
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(4) Choose the word which is different from the rest.

[A] Electricity

[B] Telephone

[C] Telegram

[D] Post

Answer : [A]

Explanation: 
All except Electricity are means of communication.
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(5) Choose the pair in which the words are differently related from the rest.

[A] Onomatology : Names

[B] Nidology : Nests

[C] Phycology : Algae

[D] Concology : Shells

Answer : [D]

Explanation: 
In all other pairs, first is the study of second.
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(6) Choose the odd one out.

[A] PRT

[B] MOQ

[C] GEC

[D] TVX

[E] SUW

Answer : [C]

Explanation: 
All other groups contain alternate letters of the alphabet in order.
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(7) Choose the odd one out.

[A] YDWB

[B] TKRI

[C] QNOM

[D] HLFJ

[E] WFUD

Answer : [C]

Explanation: 
In all other groups, first and second letters­are moved two steps backward to obtain third and fourth letters respectively.
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(8) Choose the odd one out.

[A] SUWY

[B] MOQS

[C] CEGI

[D] HJMO

Answer : [D]

Explanation: 
All other groups consist of alternate, letters.
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(9) Choose the odd one out.

[A] GARE
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[B] WEAR

[C] TEAR

[D] DEAR

[E] NEAR

Answer : [A]

Explanation: 
All other groups form meaningful words.
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(10) Question: In which year was Rahul born ?
Statements:

I.  Rahul at present is 25 years younger to his mother.

II.  Rahul's brother, who was born in 1964, is 35 years younger to his mother.

[A] I alone is sufficient while II alone is not sufficient

[B] II alone is sufficient while I alone is not sufficient

[C] Either I or II is sufficient

[D] Neither I nor II is sufficient

[E] Both I and II are sufficient

Answer : [E]

Explanation: 
From both I and II, we find that Rahul is (35 ­ 25) = 10 years older than his brother, who was born in 1964. So, Rahul was born in 1954.
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(11) Question: What will be the total weight of 10 poles, each of the same weight ?
Statements:

I.  One­fourth of the weight of each pole is 5 kg.

II.  The total weight of three poles is 20 kilograms more than the total weight of two poles.

[A] I alone is sufficient while II alone is not sufficient

[B] II alone is sufficient while I alone is not sufficient

[C] Either I or II is sufficient

[D] Neither I nor II is sufficient

[E] Both I and II are sufficient

Answer : [C]

Explanation: 
From I, we conclude that weight of each pole = (4x5) kg = 20 kg.
So, total weight of 10 poles = (20 x 10) kg = 200 kg.
From II, we conclude that:
Weight of each pole = (weight of 3 poles) ­ (weight of 2 poles) = 20 kg.
So, total weight of 10 pojes = (20 x 10) kg = 200 kg.
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(12) Question: T studies in which of the schools B, C, D, E and F ?
Statements:

I.  T does not study in the same school as either R or J.

II.  R and J study in schools D and F respectively.

[A] I alone is sufficient while II alone is not sufficient

[B] II alone is sufficient while I alone is not sufficient

[C] Either I or II is sufficient
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[D] Neither I nor II is sufficient

[E] Both I and II are sufficient

Answer : [D]

Explanation: 
As given in I and II, R studies in school D and J studies in school F. So, T does not study in school D or school F. Thus, T studies in any one of the schools
B, C or E.
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(13) Question: How is Divya related to Shaloo ?
Statements:

I.  Divya's mother is sister of Shaloo's father.

II.  Shaloo is the daughter of Divya's grandfather's only child.

[A] I alone is sufficient while II alone is not sufficient

[B] II alone is sufficient while I alone is not sufficient

[C] Either I or II is sufficient

[D] Neither I nor II is sufficient

[E] Both I and II are sufficient

Answer : [C]

Explanation: 
From I, we conclude that Divya's mother is Shaloo's aunt or Divya is Shaloo's cousin.
Now, Divya's grandfather's only child is Divya's parent. So, from II, we conclude that Shaloo and Divya are daughters of the same parents i.e. Divya is
Shaloo's sister.
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(14) Question: What is the rank of P from the bottom in a class of 30 students ?
Statements:

I.  M is third from the top and there are five students between M and P.

II.  The rank of K is fourth from the bottom and there are 17 students between K and P.

[A] I alone is sufficient while II alone is not sufficient

[B] II alone is sufficient while I alone is not sufficient

[C] Either I or II is sufficient

[D] Neither I nor II is sufficient

[E] Both I and II are sufficient

Answer : [C]

Explanation: 
From I, we conclude that P is 9th from the top. Thus, in a class of 30 students, P ranks 22nd from the bottom.
From II, we conclude that P is 22nd from the bottom.
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(15) Question: In a row of five buildings ­ P, Q, R, S and T, which building is in the middle ?
Statements:

I.  Buildings S and Q are at the two extreme ends of the row.

II.  Building ,T is to the right of building R.

[A] I alone is sufficient while II alone is not sufficient

[B] II alone is sufficient while I alone is not sufficient

[C] Either I or II is sufficient

[D] Neither I nor II is sufficient

[E] Both I and II are sufficient
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Answer : [D]

Explanation: 
From I, we have the order : S, ­, ­, ­, Q. From II, we have the order : R, T. Combining the above two, we get two possible orders : S, R, T, P, Q or S, P, R,
T, Q. Thus, either T or R is in the middle.
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(16) Question: In a certain code, 'XYZ' means 'We are friends'. Which letter stands for 'We' ?
Statements:

I.  'PYN' means 'They are classmates'.

II.  'ZMS' means 'We love them'.

III.  'PX' means 'Hello friends',

[A] Only II

[B] Only I and III

[C] All I, II and III

[D] Either I only or II only

[E] None of these

Answer : [E]

Explanation: 
To find the code for 'we', we need to have any of the following:
(i) 'We are friends' should have only 'We' common with another statement, as in II;
(ii) 'We are friends' should have only 'are' and 'friends' common with another single or two statements, as in I and III. Thus, we need Either II only or I and
III only.
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(17) Question: How is the girl in the photograph related to Kunal?
Statements:

I.  Pointing to the photograph, Kunal said, "She is the mother of my father's only granddaughter".

II.  Kunal has no siblings.

III.  Pointing to the photograph, Kunal said, "She is the only daughter­in­law of my mother."

[A] Any two of the three

[B] Only I and II

[C] Only II and III

[D] Either only III or only I and II

[E] None of these

Answer : [D]

Explanation: 
From I, we conclude that the girl is either Kunal's or his brother's wife. But, according to II, Kunal has no siblings.
So, from both I and II, we conclude that the girl is Kunal's wife.
From III, we find that the girl is the only daughter­in­law of Kunal's mother i.e. she is Kunal's wife.
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(18) Cassock : Priest :: ? : Graduate

[A] Cap

[B] Tie

[C] Coat

[D] Gown

Answer : [D]

Explanation: A Priest wears cassock while Graduate wears gown. 
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(19) Thermometer : Temperature

[A] Millimeter : Scale

[B] Length : Breadth

[C] Solar Energy : Sun

[D] Cardiograph : Heart rate

Answer : [D]

Explanation: As temperature is measured from a thermometer in the same way heart rate is measured with cardiograph. 
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(20) 'Ophthalmia' is related to 'Eye' in the same way as 'Rickets' is related to:

[A] Kidney

[B] Nose

[C] Bone

[D] Heart

Answer : [C]

Explanation: As 'Ophthalmia' is a disease of 'Eye' in the same way 'Rickets' is the disease of 'Bone'. 
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